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Enter your name ang student ID in the Space provided above, This question sheet must pe returned

al

ng with your exam bookler. This is CLOSED BOOg exam. All intermediate Steps, all intermediate
results and all assumptions used in the answers must be provided in order to obtain Jull marks. Al

questions are of equal weight.

1.

length 7 + 1 will go undetected is 1/27" Explain why.
Consider the following variation of the Selective-Reject ARQ protocol: Sending an ACK(n) means
that all frames with Sequence number less or €qual to n-1 have been received successfully, except the

Describe three problems that can arise in a Token Bus network that are handled by the Logical Ring
Maintenance operations. Describe how the protocol handles each problem.
The efficiency of Ethernet (and CSMA/CD in general) depends on certain parameters. Indicate thege
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